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Whole Numbers 








1. 



Round to the nearest whole number :– 



a 



46·45 






b 



83·505. 






2. 



Round to the nearest 10 :– 






a 



145 






b 



974·8 






3. 



Round to the nearest 100 :– 






a 



1272 






b 



3990. 






4. 



Round to the nearest 1000 :– 






a 



18 469 






b 



125 512. 






5. 



Round to 1 significant figure :– 






a 



8594 






b 



99 999. 






6. 



By rounding each number to 1 significant figure, find an 

estimate 



to :– 






a 








187 x 42 






b 








18 459 ÷ 38 






c 



79 x 97. 






7. 



Write down the answer to :– 






a 








150 x 10 






b 








100 x 4040 






c 



6002 x 1000. 






8. 



Find :– 






a 








27 x 40 






b 








502 x 300 






c 



210 x 5000. 






9. 



Find :– 






a 








6900 ÷ 30 






b 








45 000 ÷ 200 






c 



624 000 ÷ 4000. 






10. 



During the month of June, 18 600 people crossed a stone bridge. 








How many people is that on average per day ? 








Decimals 








11. 



Round these numbers to 

1 decimal place 



:– 






a 



3·56 






b 



39·93 






c 



20·75 






d 



0·749. 






12. 



Round these numbers to 

2 decimal places 



:– 






a 



6·384 






b 



23·397 






c 



0·865 






d 



0·0981. 






13. 



Copy and work out the following :– 






a 






b 






c 



0·76 + 11·4 






d 



30 – 6·09. 






14. 



Copy and find the answers to the following :– 






a 






b 






c 






d 








2·83 








+ 3·56 








29·73 








– 8·85 








6·7 








x 9 








0·98 








x 9 








7 52·5 








6 9·54 . 








(The following was covered in 



National 4 Applications of Mathematics 



and should be known, though much of 








it will be revised later). 
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15. 



Write down the answers to the following :– 






a 



6·7 



x 



10 






b 



100 



x 



0·205 






c 



0·0807 



x 



1000 






d 



69·1 ÷ 10 










e 










f 








1030 








1000 








. 








16. 



To what number is the arrow pointing ? 






17. 



Change :- 






a 



187 mm to cm 






b 



13 cm to metres 






c 



60 450 metres to km. 






18. 



10 copies of a book cost £70·50 






a 



What will it cost for 1 copy ? 






b 



What would 100 copies cost ? 








Percentages 








19. 



Write 67% as :– 






a 



a fraction 






b 



a decimal. 






20. 



Write each of the following as a fraction and simplify as much as possible :- 






a 



80% 






b 



35% 






c 



24%. 






21. 



Use your calculator to change each to a :- 



(i) 



decimal 






(ii) 



percentage :– 










a 








7 








20 








b 








19 








25 








c 








35 








40 








. 








22. 



Derek scored in 34 out of 40 games last year. Write this as a percentage. 






23. 



Work out the following :– 






a 








11% of £300 






b 



6% of £70 






c 








35% of £80 










d 



2 








1 








2 








% of £8000. 








24. 



I decided to wait till January to buy a new £480 TV. 






a 



How much could be saved in the January sale ? 






b 



How much will a TV set cost in the sale ? 






25. 



A farmer began to plough his 64 acres of farmland. 








At the end of the first day, he had managed to plough 15% of his land. 






a 



How many acres had he ploughed ? 






b 



How many had he still to plough ? 






26. 








Last October, our family holiday to Tenerife cost £3200. 








This year, we found it has risen by 4%. 








How much will it cost us this year ? 










100 8·35 










13·5 








13·6 








13·7 








cm 
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27. 



The 



Federal Building Society 



is offering interest of 1·5% per year. 








If I invest £2400 in a savings account with 



Federal 



and leave 








it there for 1 year, how much interest will I be due, and how 








much will I have altogether in my savings account after a year ? 








Fractions 








28. 



Write down two fractions equivalent to the fraction 










3 








5 








. 








29. 



Simplify the following fractions :– 










a 








10 








15 








b 








28 








35 








c 








14 








98 








. 








30. 



Find :- 










a 








1 








3 








of 108 g 








b 








1 








5 








of £3·50. 








31. 



Find :- 










a 








5 








6 








of 2040 mm 








b 








7 








8 








of 144 kg. 








32. 



40 new lambs were born last year on McEwe’s farm. 










5 








8 








of them were sold at a market. 










How many were left on the farm ? 






33. 



What 

fraction, 



in its simplest form, is equivalent to :– 






a 



25% 






b 



60% 






c 



15% ? 






34. 



Attempt the following without using a calculator :- 






a 



50% of £52 






b 



25% of £30 






c 



10% of £9·60 










d 



33 








1 








3 








% of 75p 








e 



20% of £65 






f 



5% of £2400. 








Time, Distance, Speed 








35. 



A mill wheel rotates at a speed of 








6 revolutions per minute. 








How many times will it turn in one 








and a half hours ? 






36. 








A hot air balloon travels 15 miles from 








its take off point to where it lands. 










It flew this distance in 1 








1 








4 








hours. 










What was the 

average speed 



of the balloon ? 






37. 



A light Cessna plane flew for 275 miles at an average 








speed of 110 mph. 






How long 



did it take, in hours and minutes ? 
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38. 



The ferry from Dover to Calais covers the 36 kilometres 








at an average speed of 24 km/hr. 








At what time (local) should the 1645 ferry reach Calais ? 








(



Remember - Calais is 1 hour ahead of Britain). 








Area & Perimeter 








39. 



Write down the area 








of this shape, in cm 








2 








. 






40. 



Calculate the area of each rectangle :- 








(



Use the formula and show your working). 






a 






b 






c 






41. 



Calculate the perimeter of these three shapes :- 






a 






b 






c 








Integers 








42. 



Write down the temperature shown on each thermometer, in °C :- 






a 






b 








2·5 m 








60 cm 








12 mm 








SQUARE 








22 cm 








9 cm 








23 mm 








21 mm 








16 mm 








(



Each square is 1 cm by 1 cm). 








5·2 cm 








Regular 








Hexagon 








12 m 








10 m 








13 m 








8 m 








–20 








–10 








0 








10 








20 








–40 








–20 








0 








20 








40 
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43. 



a 



Jak had an overdraft of £180 in his account, then his salary of £1350 was paid in. 








What was Jak’s new balance ? 






b 



Near the end of the month, Tina’s account read +£35·40. 








She deposited a cheque for £96·80, then bought a pair 








of boots for £69·99, using her bank card. 








What will Tina’s bank balance read now ? 






44. 



What is the temperature that is :– 






a 



10°C 

up from 



–7°C 






b 



13°C 

down from 



–14°C 






c 



35°C 

below 



18°C ? 






45. 



The temperature on the Moon varies from -233 Celsius 








on the dark side, to +123 Celsius in sunlight. 








By how many degrees does it heat up 








going from dark to light ? 






46. 



Find the following :– 






a 



6 – 11 






b 



(–2) + 8 






c 



(–12) + (–8) 






d 



9 – 20 






e 



(–6) – 7 






f 



(–53) – 47 






g 



(–90) + 75 






h 



(–65) + (-95). 






47. 



Find :– 






a 



9 + (–5) – 7 






b 



(–35) + (–145) – 120. 








Ration & Proportion 








48. 



In 



a golf bag, there are 3 woods and 9 irons. 








Write down the ratio of woods to irons and 








simplify this ratio as far as possible. 






49. 



Simplify the following ratios as far as possible :– 






a 



12 : 16 






b 



25 : 45 






c 



16 : 48 






d 



36 : 18 






e 



120 : 200 






f 



88 : 99 






g 



360 : 240 










h 



1 








1 








2 








: 6. 








50. 



In an estate, the ratio of houses with a conservatory to those without is 2 : 9. 








There are 44 houses on the estate. How many of them have a conservatory ? 






51. 








Mobiles 4 U 



only sell iPhones and Samsungs. 








The ratio of Samsungs sold : iPhones sold is 5 : 4. 








If in fact 



Mobiles 4U 



sold 20 iPhones one Saturday, 








how many phones must they have sold altogether ? 
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52. 








At 



Glebe’s the Bakers, 



Joe bought 4 sausage rolls for £3·40. 








His mate Billy bought 5 sausage rolls. 








How much would Billy have paid ? 






53. 



Beth played the “Beastie 



Boys” 



new single 3 times right through 








last night and it lasted 8 minutes and 30 seconds altogether. 








How long will it take her tonight to listen to the single 5 times ? 








Volume 








54. 



Calculate the 

volume 



of 










this cuboid, in cm 








3 








:– 








55. 










The volume of this cuboid is 960 cm 








3 








. 










Calculate its 

breadth. 






56. 



Change to litres :– 






a 



5500 ml 






b 



950 ml 






c 



40 ml. 






57. 



Change to millilitres :- 






a 



5·8 litres 






b 



0·065 litres 










c 



3 








1 








4 








litres. 










58. 



a 



Calculate the 



volume 



of water in this tank, in cm 








3 








. 








b 



How many millilitres of water can it hold ? 






c 



How many litres is this ? 






d 



When the tap is opened fully, water flows out 








of the tank at a rate of 3·5 litres per minute. 








How long will it take for the tank to empty ? 








Probability 








59. 



This 12-sided dice with faces numbered 1 to 12, is rolled. 








What is the probability it will end up showing :– 






a 



the number 7 






b 



an even number 






c 



not 



the number 12 






d 



a number greater than 5 ? 








60 cm 








35 cm 








50 cm 








15 cm 








8 cm 








10 cm 








6 cm 








B 



cm 








20 cm 
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60. 



A group of people was asked to say who their mobile 








phone contract was with. See opposite. 








If I pick one person at random from the group, 








what is the probability the person :- 






a 



is with S-Mobile 






b 



is with FF or P3 






c 



is 

not 



with Dovaphone ? 






61. 



A jewellery box holds 4 platinum rings, 3 gold rings and 5 silver rings. 






a 



If a lady chooses one at random, what is the probability it 








will be gold ? 






b 



If it is gold, and she slips it on, what is the probability the 








next ring she chooses is also gold ? 










Graphs, Charts & Tables 










62. 



This bar graph shows the number 








of pairs of trainers sold in a large 








Edinburgh sports shop in 2015. 








a 








How many Hike were sold ? 








b 








How many Ted Berry were sold ? 








c 








How many 



more 



BeeBok than 








Abibas were sold ? 








d 








What 

fraction 



of the trainers 








sold were made by Lakissed ? 








63. 



The line graph shows the altitude 








of an aircraft on its flight back 








from Tenerife to Glasgow. 








a 



At what time did it take off ? 






b 



How long did the flight take ? 








c 



What was the plane’s height at 






(i) 



1730 






(ii) 



2030 ? 








d 



To avoid turbulence, the pilot 








took the plane up by 10 000 feet. 








At what time did he do this ? 








e 



Between which 2 times did the plane make its steepest descent ? 








f 



The seatbelt sign came on 30 minutes before the plane landed. When was this ? 










Annual 








sales 
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Plane’s Altitude 










14 said FF 








4 said Dovaphon 








12 said P3 








6 said S-Mobile 
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64. 



The pie chart shows how much time Navid, a professional 








gardener, spent gardening in an average week in summertime. 






a 



What task takes up most of Navid’s time ? 






b 



What fraction of Navid’s time is spent weeding 








gardens ? 






c 



Navid worked 160 hours in total during the month 








of June. 








How many hours did he spend :- 






(i) 



Watering 






(ii) 



Planting ? 






65. 








Lucy Jane checked her mobile phone to see how long each 








of her last 20 telephone calls had lasted, (in minutes). 






a 



How many of Lucy Jane’s calls lasted :- 






(i) 



50 minutes 






(ii) 



43 minutes ? 






b 



List all the phone calls that lasted 








longer than 45 minutes. 






c 



What fraction of them lasted less 








than 25 minutes ? 






66. 








A scattergraph is to be constructed by plotting the number of 








hours a group of runners spend training, against the times taken 








by each of them to run in a 10 K charity race. 








Write a short sentence explaining what connection you would 








expect to see in the scattergraph. 






67. 



Three tyre garages offer various brands. The prices in the table include fitting. 






a 



Write down which garage you 








should consider when buying :- 






(i) 



a Suresafe tyre 






(ii) 



a set of 4 Firebrands 






(iii) 



two Supergrips. 






b 



Sue bought a set of four Suresafe tyres from McClutchie’s. 








How much could she have saved altogether if she had shopped 








around these 3 suppliers for her set of Suresafe tyres ? 








Length of call (minutes) 








0 








8 








1 








3 6 








2 








1 2 5 6 8 








3 








0 2 7 9 








4 








1 3 3 3 6 8 








5 








0 2 








2 



1 



= 21 



mins 






Key :- 








Weeding 








Watering 








Planting 








Cutting 








Lawns/hedges 






Garden Work 








Firebrand Supergrip Suresafe 








McCluchie’s 








£45·75 








£52·25 








£74·50 








Avondale’s 








£48·00 








£55·50 








£69·75 








SureFits 








£39·75 








£58·50 








£72·00 
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Ch 1 - Number Work - Revision 











1. 



Round to the nearest whole number :– 








a 



3·8 








b 



6·6 








c 



21·1 








d 



62·5 








e 



17·49 








f 



102·51 








g 



245·199 








h 



207·508. 








2. 



Round to the nearest 10 :– 








a 



54 








b 



73 








c 



8 








d 



205 








e 



319 








f 



995 








g 



8014 








h 



1005. 








3. 



Round to the nearest 100 :– 








a 



109 








b 



545 








c 



92 








d 



750 








e 



4739 








f 



6250 








g 



1449 








h 



9975. 








4. 



Round to the nearest 1000 :– 








a 



2300 








b 



7900 








c 



6490 








d 



12 500 








e 



82 199 








f 



110 700 








g 



225 497 








h 



109 999. 








5. 



Round to 1 significant figure :– 








a 



193 








b 



2199 








c 



19 500 








d 



250 001. 








6. 



By rounding each number to 1 significant figure, find an 



estimate 



to :– 








a 








19 x 21 








b 








13 x 69 








c 



196 x 98 








d 








91 ÷ 29 








e 








307 ÷ 21 








f 



8943 ÷ 32. 








7. 



Write down the answer to :– 








a 








73 x 10 








b 








100 x 16 








c 



21 x 1000 








d 








10 x 125 








e 








300 x 100 








f 



1000 x 450 








g 








1101 x 10 








h 








100 x 801 








i 








610 x 1000. 








8. 



Write down the answer to :– 








a 








40 ÷ 10 








b 








800 ÷ 100 








c 



6000 ÷ 1000 








d 








570 ÷ 10 








e 








6200 ÷ 100 








f 



35 000 ÷ 1000 








g 








75 000 ÷ 10 








h 








39 800 ÷ 100 








i 








120 000 ÷ 1000. 








Revision of Number Work 








Revision of Number Work 
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9. 



Do the following, using the “two-step” method shown :– 








a 








28 x 20    (Find 28 x 10 = 280 and then find 280 x 2). 








b 








24 x 20 








c 








18 x 30 








d 



45 x 50 








e 








72 x 80 








f 








150 x 90 








g 



4120 x 40 








h 








15 x 300    (Find 15 x 100 = 1500 and then find 1500 x 3). 








i 








14 x 200 








j 








16 x 300 








k 



25 x 400 








l 








500 x 18 








m 



2000 x 35 








n 



15 x 5000. 








10. 



Do the following divisions, using the “two-step” method shown :– 








a 








420 ÷ 20    (Find 420 ÷ 10 = 42 and then find 42 ÷ 2). 








b 








160 ÷ 20 








c 








270 ÷ 30 








d 



4500 ÷ 50 








e 








17 200 ÷ 40 








f 








23 100 ÷ 70 








g 



54 900 ÷ 90 








h 








13 200 ÷ 300   (Find 13 200 ÷ 100 = 132 and then find 132 ÷ 3). 








i 








6600 ÷ 200 








j 








3200 ÷ 400 








k 



21 500 ÷ 500 








l 








15 400 ÷ 200 








m 



56 700 ÷ 700 








n 



416 000 ÷ 800. 








11. 



There are 1500 paper clips in one box. 








If I ordered 20 boxes of them, how many paper clips would I have ? 








12. 



The 



Tea Shop 



bought in 45 packs of tea bags. 








Each pack contained 300 tea bags. 








a 



How many tea bags had the shop bought ? 








b 



Round your answer to the nearest thousand. 








13. 








A factory turns out 13 200 wing nuts over a period of 60 hours. 








How many nuts per hour does that work out at ? 








14. 



Over a period of 30 days, 



Ryanjet Airlines 



carried 29 550 passengers. 








How many passengers did that average out at per day ? 








15. 



One of 



Ryanjet’s 



pilots clocked up 138 000 miles 








over 400 hours flying time. 








a 



How many miles did he fly per hour ? 








b 



Round your answer to the nearest ten miles. 
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Ch 



1 - Number Work 










Add, Subtract, Multiply & Divide 










1. 



In 



a prize draw, for matching 5 numbers and a bonus ball, the prize money was £406 929. 








The prize money for matching 6 balls was four times that. 








a 



What was the prize money for matching six balls ? 








b 



Three people shared the prize for having 5 numbers and the bonus ball. 








How much did they each win ? 








2. 



The voting in a council election went as follows :- 










Jones - 26 497, 








Davis - 13 628, 








Murray - 6287, Wills - 28 103. 










a 



Who won and by how many votes more than the runner-up ? 








b 



It was noted that 18 485 people who were eligible to vote did not turn up to vote. 








How many people in total were registered to vote in that council ? 








3. 



The number of supporters at Rovers’ home games during this season was 751 120. 








Last season, the average attendance was 40 000 for each of the twenty games at home. 








By how much is this season’s total attendance lower than last season ? 








4. 



Mr Swallow is an editor of a newspaper. He gets an annual salary of £38 417. 








Miss Sims, the managing director of a wholesale firm, is paid treble that amount. 








What is her annual salary ? 








5. 



Mr Baker lives in a house, valued at £200 000. 








To insure his house, he pays a premium of 85 pence for 








every £1000 his house is worth. 








How much, in pounds, does his house insurance cost him ? 






Exercise 1 









In the following exercise, you have to decide which mathematical operation to use - 








either +, –, x or ÷. Once you have decided, set down the working and calculate the answer. 








A number that you may not be too familiar with is one billion .... 



1 billion = 1000 million 








Discussion :- 








How many 



zeros 



in a :- 



(i) 



billion 



(ii) 



trillion 



(iii) 



quadrillion ? 
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Ch 



1 - Number Work 








6. 



For 2015-2016, NHS Scotland had an operational budget of £11·9 billion. 








a 



Write this amount out in millions of pounds. 








b 



This represented an increase of £0·55 billion from 2014-2015. 








What was the operational budget (in £million) in 2014-2015 ? 








7. 



The UK National Debt grows at a rate of £5170 



per second. 








How much would that be over a 1 hour period ? 








8. 



In 



2013-2014, the total amount of Council Tax billed in Scotland was £2·04 billion. 








Of this total, £1·942 billion was collected by the due date, 31st March 2014. 








How much tax had still to be collected ? 








9. 








The number of overseas visitors to Scotland in 2007 was 2·8 million. 








In 2013, the figure had dropped to 2·45 million. 








By how many thousands had the figure fallen ? 








10. 



China’s population was 1 355 692 576 in 2014. 








In the same year, the population of Pakistan was a seventh of that. 








What was the population of Pakistan ? 








11. 








Miss Galbraith earns £24 680 per year. 








She is allowed £10 600 tax free, but pays 








one fifth of the remainder on income tax. 








How much is she left with after paying her tax ? 








12. 



The table shows the average monthly exchange rates for 








British pounds to euros between Oct. 2014 and Mar. 2015. 








How many fewer euros would I have received if I had 








exchanged £500 when the exchange rate was at its 








lowest rather than its highest ? 








13. 



Calculate the following :-     (Remember :- 

Bomdas):- 










a 



200 + 2 



x 



20 








b 



500 – 80 ÷ 4 








c 



5800 + 210 



x 



5 








d 



6500 – 500 ÷ 5 








e 



400 + 30 



x 



4 – 75 








f 








1 








9 








of 8910 + 110 








g 



3460 – 








1 








6 








of 20 754 








h 



250 – 








1 








3 








of 180 + 190 








i 



8000 



x 



9 – 300 ÷ 4 + 1. 










Oct. 2014 



€1·277 








Nov. 2014 



€1·251 








Dec. 2014 








€1·266 








Jan. 2015 








€1·282 








Feb. 2015 








€1·346 








Mar. 2015 



€1·402 








£1 = ..... 
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Ch 



1 - Number Work 










Integers - Focusing on Negative Numbers 








Exercise 2 









Integers are made up of positive and negative whole numbers, and zero. 








Negative numbers 



are commonly used in :- 








1. 



Write down the temperature shown on each thermometer :- 








a 








b 








c 








d 








2. 



a 



Thomas had £60 in his bank account and withdrew £80. 








What was his new balance ? 








b 



Anna’s bank account read as 



–£280. 








She deposited £310 and then paid a £150 gas bill. 








What will her bank balance read now ? 








3. 



On 30th April, Joe’s bank balance read 



–£340. 








a 








Describe “a balance of -£340” another way. 








His monthly salary of £1235 was paid in the next day and Joe 








then used his debit card to pay £112 for his monthly rail card. 








b 



Write down Joe’s new bank balance. 








4. 



What is the temperature that is :– 








a 



12°C up from 2°C 








b 








9°C up from –3°C 








c 



4°C down from –6°C 








d 








15°C down from 18°C 








e 



20°C above –14°C 








f 








20°C below –5°C 








g 



7°C above –26°C 








h 








16°C below –16°C ? 








• 



Temperature 



- 








–6°C is 8 degrees below 2°C. 








• 



Banking 



- 








A balance of –£50 means you are £50 overdrawn. 








• 



Addition/Subtraction 



- –4 + 9 = 5  and  (–6) – 5  + (–9) = –20. 








°C 








–10 








–5 








0 








–5 








10 








°C 








–20 








–10 








0 








10 20 








°C 








–20 








–10 








0 








10 








20 








°C 








–40 








–20 








0 








20 40 
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Ch 



1 - Number Work 








5. 



a 



In London, the temperature was –4°C. 








In Aberdeen, it was 17° colder. 








What was the temperature in Aberdeen ? 








b 








On holiday in Canada, the temperature at noon was 19°C. 








By midnight, the temperature had dropped by 31°C. 








What was the temperature at midnight ? 








c 



A submarine was situated 800 feet below sea level. 








Its engines started up and it climbed 290 feet. 








What was its new position ? 








d 








Roman civilisation began in 509 B.C. and ended in 476 A.D.. 








How long did Roman civilisation last ? 








e 



Mount Everest, the highest mountain in Asia, is 29 028 feet above sea level. 








The Dead Sea is 1312 feet below sea level. 








What is the difference between these two elevations ? 








f 








Metal mercury at room temperature is a liquid. 








Its melting point is –39°C. 








The freezing point of alcohol is –114°C. 








How much warmer is the melting point of mercury 








than the freezing point of alcohol ? 








6. 



Work out the following :– 








a 



3 – 7 








b 



1 + (–5) 








c 



12 – 18 








d 



(–6) + 9 








e 



–5 + (–5) 








f 



–11 – 3 








g 



(–7) – 7 








h 



(–15) + (–15) 








i 








–45 + 45 








j 



0 – 210 








k 



0 + (–77) 








l 



(–18) + (–13) 








m 



85 + (–80) 








n 



(–180) + 70 








o 



(–222) + 22 








p 



(–6) - 32 








q 



120 + (–90) 








r 



(–1000) + 2500 



s 



(–1000) – 250 








t 



155 – 196. 








7. 



Find :- 








a 



2 + (–1) + 5 








b 



5 + (–3) + 7 








c 



7 + (–2) – 5 








d 



10 + (–5) – 7 








e 



(–4) + (–8) + 12 








f 



(–3) + (–5) – 2 








g 



(–9) + 11 – 3 








h 



(–9) + (–11) + 3 








i 








85 + (–91) + (–94). 
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Ch 1 - Numeracy Assessment 1 








1. 



Mr Wilson wrote a cheque for £910 for his new dining room suite. 








This included a discount from the company he bought it from. 








The table was priced £385 and the 6 chairs were priced at £185 per pair. 








How much of a discount did he receive ? 








2. 



In a local election, Harris, with 14 789 votes was beaten into second 








place by Williams, who polled 1467 votes more. 








Jackson came third, 4728 votes behind Williams. 








How many people voted for Jackson ? 








3. 



The table shows the average monthly exchange rates 








for British pounds to U.S. dollars between October 








2014 and March 2015. 








How many more dollars would I have received if I had 








exchanged £3000 when the exchange rate was at its 








highest rather than at its lowest ? 








4. 



The net expenditure on education in 2013-2014 was £4·60 billion. 








£1·77 billion went on primary education, £1·87 billion on secondary education 








with the remainder being spent on nursery, special and community education. 








Write out that remaining amount in millions of pounds. 








5. 



The UK spends £1·7 billion on health care every 5 days. 








How much is that per day, to the nearest £1000 ? 








6. 



In 2014, the population of U.S.A. was estimated to be 322 500 000. 








This was one quarter of the population of India. 








Calculate (in billions) what the population of India was in 2014. 








7. 



Calculate :- 










a 



2700 + 280 



x 



5 








b 



8293 – 744 ÷ 8 








c 



700 + 25 



x 



7 – 175 








d 








1 








4 








of 25 160 + 1710 








e 



10 000 – 








1 








3 








of 22 425 



f 








1 








5 








of (8972 – 3247) 








g 



–110 + (–90) 








h 



–475 + 325 








i 



324 – 387 








j 



(–19) + 21 – 13 








k 



(–45) + (–27) + 63 








l 








185 + (–191) + (–194). 












Oct. 2014 








1·595 








Nov. 2014 








1·597 








Dec. 2014 








1·556 








Jan. 2015 








1·507 








Feb. 2015 








1·495 








Mar. 2015 








1·488 










Dollars to £1. 








Numeracy Assessment 1 








Numeracy Assessment 1 
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Ch 2 - Decimals - Revision 








Revision of Decimals 








Revision of Decimals 








1. 








What number does this stand for ? 








2. 



Round these numbers to 



1 decimal place 



:– 








a 



8·17 








b 



9·93 








c 



32·05 








d 



0·84 








e 



158·91 








f 



62·71 








g 



70·19 








h 



99·99. 








3. 



Round these numbers to 



2 decimal places 



:– 








a 



7·183 








b 



11·706 








c 



0·876 








d 



9·927 








e 



0·0874 








f 



16·555 








g 



0·1007 








h 



99·999. 








4. 



Copy and work out the following :– 










a 








b 








c 








d 








e 



0·93 + 9·2 








f 



31 – 8·06 








g 



137·88 + 5·7 








h 



234·7 – 23·712. 








i 








j 








k 








l 








m 








n 








o 








p 










5. 



Write down the answers to the following :– 










a 



8·91 



x 



10 








b 



100 



x 



6·114 








c 



0·0234 



x 



1000 








d 



731·1 ÷ 10 








e 








71·09 ÷ 100 








f 








63 








100 








g 



14·014 x 100 








h 








729 








1000 








i 



0·007 ÷ 1000. 








5·14 








+ 2·63 








49·14 








– 7·02 








8·3 








x 6 








0·89 








x 8 








6 31·8 








7 11·06 








This stands for 1 








13·78 








+ 1·56 








137·67 








– 86·79 








100 6·28 








37·8 








x 9 








107·5 








x 8 








9 36·45 
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6. 



What numbers are the arrows pointing to ? 










a 








b 








c 








d 








7. 



Change :- 








a 



75 mm to cm 








b 



82 cm to metres 








c 



5800 metres to km 








d 



4 km to cm 








e 








18 m to mm 








f 



1 km to mm. 








8. 



a 



Four parcels weighing 6·7 kg, 8·21 kg, 








9·08 kg and 11·75 kg are placed on a scale. 








What will the reading be on the scale ? 








b 



Three packages on a scale read 112·72 kg. 








One package is removed and the scale reads 84·09 kg. 








What was the weight of the package that was removed ? 








9. 



a 



The total weight of a set of six chairs is 116·4 kg. 








What is the weight of each chair ? 








b 



Nine marble tables, each weighing 272 kg, are to be 








transported in a van from the depot to a warehouse. 








If the van can carry a maximum of one tonne, how many 








trips will the van have to make ? 








10. 



A sheet of tracing paper weighs 0·04 g. 








• There are 100 sheets in a packet, which weighs 4 grams. 








• There are 100 packets in a box, which weighs 150 grams. 








• There are 100 boxes in a crate. 








• An empty crate weighs 0·01 tonnes. 








What is the total weight of a crate full of tracing paper :- 








a 



in grams 








b 



in kilograms 








c 



in tonnes ? 








page 17 








Ch 2 - Decimals - Revision 








12 








13 








14 








2·7 








2·8 








2·9 








°C 








0 








0·1 








0·2 








0·3 








0·4 








0 








0·2 








0·4 








0·6 








0·8 
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Ch 2 - Decimals 










Rounding to 1, 2 or 3 Decimal Places 












Exampple 1 :- 



5·276 










lies between 



5·27 



and 



5·28 








It is closer to 



5·28, 








(to 2 decimal places). 










Example 2 :- 



73·482 










lies between 



73·48 



and 



73·49 








It is closer to 



73·48, 








(to 2 decimal places). 








1. 



Copy and complete these statements :– 








a 








7·287 lies between 7·28 and 7·2 ... 








It is closer to ... to 2 decimal places 








b 



14·548 lies between ... and ... 








It is closer to ... to 2 decimal places 








c 








20·184 lies between ... and ... 








It is closer to ... to 2 decimal places. 








2. 



Which of the two numbers in the brackets gives the correct answer when the number 








is rounded to 2 decimal places :– 








a 








6·341 (6·34 or 6·35) 








b 



36·047 (36·04 or 36·05) 








c 








10·296 (10·29 or 10·30) 








d 



1·006 (1·00 or 1·01)  ? 










To round “longer” numbers like 



4·76243 



to 3 decimal places :– 










Step 1 








– note that it lies between 4·762 and 4·763 








Step 2 








– say which number it is closer to —> 



4·762. 








3. 



Round these numbers to 3 decimal places, using this method :– 








a 








1·28512 —> 1·2... 








b 



2·97254 —> 








c 



5·32865 —> 








d 



6·18633 —> 








e 








9·92166 —> 








f 



8·04034 —> 








4. 



6·998 rounded to 1 decimal place is 7. Explain what is wrong with this. 








5. 



Round each number to the number of decimal places shown in the bracket :- 








a 








6·8765 








(2) 








b 



10·99999 








(1) 








c 



5·9876 (3) 








d 



12·65465 (2) 








e 








11·000099 (2) 








f 



9·991111 (2) 








g 








0·0555 








(2) 








h 








317·1455 








(3) 








i 








1·999999 (4). 






Exercise 1 











N5 Applications of Maths - Numeracy 





















page 19 








Ch 2 - Decimals 










Rounding using Significant Figures 










In mathematics, a figure or digit in a number is “significant” 








if it gives some sense of 



Quantity & Accuracy. 








Examples :- 








8361 rounded to 



1 significant figure 








=> 








8000 








13 342 rounded to 



3 significant figures 








=> 








13300 








4·5568 rounded to 



3 significant figures 








=> 








4·56 








0·007 7912 rounded to 



2 significant figures 








=> 








0·0078 








1. 



Round each number to 



1 



significant figure :- 








a 



67 








b 



742 








c 



6118 








d 



56 297 








e 



4298 








f 



3467 








g 



7·54 








h 



0·046 








i 








0·456 








j 








0·0099 








k 



0·000 642 








l 



39·21. 








2. 



Round each number to 



2 



significant figures :- 








a 



607 








b 



5124 








c 



30 701 








d 



653 761 








e 



46·68 








f 



36·54 








g 



9·276 








h 



0·123 








i 








0·587 








j 








0·006 647 








k 



0·044 55 








l 



99·512. 








3. 



Round each number to 



3 



significant figures :- 








a 



7654 








b 



55 066 








c 



99 754 








d 



345 199 








e 



8·234 








f 



77·934 








g 



0·534 456 








h 



0·876 534 








i 








0·001 541 








j 








0·010 67 








k 



0·055 66 








l 



0·099 999. 








4. 



a 



Find the weight of 56 books if each book weighs 0·85 kilograms. 








(Give your answer to 2 significant figures). 








b 



What is the total volume, in millilitres, of 37 bottles of juice each 








containing 1·25 litres ? (Give your answer to 3 sig. figs). 








5. 



a 



A doll weighs 1·63 kg. Find the weight of 45 dolls, to 2 significant figures. 








b 



A chemist’s beaker holds 180·7 millilitres of liquid. 








Find to one significant figure, how many millilitres 24 beakers would hold. 






Exercise 2 
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Ch 2 - Decimals 










Using the 4 Operators (+ - x ÷) with Decimals 








Exercise 3 









To find 



45·6 – 22·33 










=> 45·60 








– 22·33 








= 



23·27 










Example 2 :- 








line up 








Example 1 :- 



To find 



18·74 + 5·68 








=> 18·74 








+ 5·68 








= 



24·42 








line up 








Make sure the 








decimal points are 








always beneath 








each other. 








Add and Subtract Decimal Numbers 








(Adding 0’s 








often helps). 








note 










5 1 










1. 



Set these down and find the answers :– 








a 








21·65 + 7·99 








b 



56·7 + 29·37 








c 



67·64 – 18·37 








d 



19·27 – 6·58 








e 








73·01 – 48·02 








f 



92·52 + 62·3 








g 








35·1 – 0·27 








h 








62 – 32·93 








i 








100 – 87·738. 








2. 



Set these down and find the answers :– 










a 








21·74 x 4 








b 



10·87 x 7 








c 



8 x 11·98 








d 








e 








f 








g 








11·75 ÷ 5 








h 








50·47 ÷ 7 








i 








123·004 ÷ 4 








j 








161·81 x 9 








k 








1·76 x 3 x 4 








l 








0·708 x 7 x 8 








m 



15 ÷ 2 








n 








30 ÷ 8 








o 








51 








4 








. 










To find 



7·38 x 9 








remember the point 








7·38 








x 9 








66·42 








It helps to copy 








the decimal point 








straight down 








from where it is. 








Multiplying and Dividing Decimals Numbers 








Example 3 :- 








Example 4 :- 



To find :- 



25·76 ÷ 7 








remember the point 








copy up 








=> 










7 2 5 · 7 6 








4 5 








3·6 8 










2 14·86 








5 29·35 








7 37·94 
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Ch 2 - Decimals 










Multiplying & Dividing Decimals by 10, 100, 1000 








Exercise 4 









To find 



2·79 x 10 








move all the figures 








1 place left 








To find 



25·9 ÷ 10 








Example 1 :- 








Example 2 :- 








RULES for multiplying decimals 








x 10 








move all figures 



1 place 



left 








x 100 



move all figures 



2 places 



left 








x 1000 



move all figures 



3 places 



left 








RULES for dividing decimals 








÷ 10 








move all figures 



1 place 



right 








÷ 100 



move all figures 



2 places 



right 








÷ 1000 



move all figures 



3 places 



right 








1. 



Copy these down and find the following :– 








a 








b 








c 








d 








e 



4·1 x 10 








f 



31·801 x 100 








g 



0·87 x 100 








h 



1·01 x 1000. 








2. 



Copy and find the following :– 










a 








b 








c 








d 










e 



47·1 ÷ 10 








f 



3·001 ÷ 100 








g 



18·1 ÷ 1000 








h 



3 ÷ 1000. 








3. 



A bottle holds 1·15 litres of apple juice. 








How many litres are there in :– 








a 



10 bottles 








b 



1000 bottles ? 








4. 



One thousand pencils are laid end to end and have a total length of 140 metres. 








Find the length of each pencil in :- 








a 



metres 








b 



millimetres. 








8·41 








x 10 








3·129 








x 100 








0·79 








x 1000 








0·851 








x 1000 










10 5·8 








100 42·1 








100 357 








1000 357 










2 · 7 9 








=> 








x 1 0 








2 7·9 








=> 








2·5 9 








10 2 5 · 9 








move all the figures 








1 place to the right 
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Ch 2 - Decimals 










Multiplying & Dividing Decimals by Multiples of 10, 100, 1000 








Exercise 5 









To multiply 



7·64 x 20 








Step 1 










Find 



7·64 x 10 



= 



76·4 










Step 2 










Now find 








76·4 








x 2 








152·8 










To multiply 



1·182 x 400 








Step 1 










Find 



1·182 x 100 



= 



118·2 










Step 2 










Now find 








118·2 








x 4 








472·8 










Step 1 










Divide by 



10 



first = 



0·195 










Step 2 










Now divide by 



3 








0·195 








3 








0 ·0 6 5 








3 0 · 1 9 5 










To divide 



1·95 ÷ 30 








1. 



Calculate each of these, using the same method shown above :– 








a 








4·23 x 20     (Find 10 x 4·23 first = 42·3 and then find 42·3 x 2). 








b 








1·97 x 30 








c 








12·1 x 500 








d 



0·308 x 600 








e 








4·005 x 8000 








f 








1·24 x 500 








g 



0·135 x 4000 








h 








0·076 x 9000 








i 








700 x 1·002 








j 



0·00095 x 3000. 








2. 



Divide the following :– 








a 








182·4 ÷ 20    (Find 182·4 ÷ 10 = 18·24 and then divide 18·24 by 2 



). 








b 








21·9 ÷ 30 








c 








16·8 ÷ 400 








d 



3200 ÷ 2000 








e 








16·84 ÷ 400 








f 








2·4 ÷ 5000 








g 



181·8 ÷ 900 








h 








246·804 ÷ 400 








i 








500·05 ÷ 5000 








j 



72 ÷ 8000. 








3. 



Each box in a truck weighs 4·21 kg. 








What would be the weight of :- 








a 








200 boxes 








b 








6000 boxes ? 








4. 








The width of 400 books on a shelf is 5·32 metres. 








What is the average width of 1 book :- 








a 








in metres 








b 








in millimetres ? 










Example 1 :- 








Example 2 :- 










Example 3 :- 










1 1 
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Ch 2 - Decimals 






Exercise 6 









1. 



Jessica ran three marathons last year. 








Her times were 4·75 hours, 5·2 hours and 4·36 hours. 








a 








What was her combined time for all 3 races ? 








(Give your answer to one decimal place). 








b 








What was her average time ? 








(Give your answer to two significant figures). 








2. 



In 



a four by 100 metre relay race, the four runners ran the following times :- 








12·625 secs, 13·07 secs, 12·066 secs, 11·872 secs. 








a 








What was their total running time for the team ? 








(Give your answer to two decimal places). 








b 








What was the difference between the fastest and slowest runner in the team ? 








(Give your answer to two significant figures.). 








3. 








Charlie does 20 laps of a karting track. 








His average lap time is 34·76 secs. 








a 








What was his total time for the 20 laps ? 








(Give your answer to one significant figure). 








b 








Jake’s total time for 20 laps is 704·84 seconds. 








Who has the better time, and by how much ? 








(Give your answer to one decimal place). 








4. 



In a 1600 m race, Team GB timed 4:03·62. This reads as 4 minutes and 3·62 seconds. 








Other teams recorded the following times :- 








Germany - 4:01·7 








Italy - 4:10·35 








Kenya - 3:57·04 








USA - 3:39·17. 








a 








Who won and by how many seconds did they beat second place ? 








(Give your answer to one decimal place). 








b 








By how many seconds was the winner in front of last place. 








(Give your answer to two significant figures). 








5. 



A particle in the 



Hadron Collider 



covers the 








27 km round trip in 0·0000909 seconds. 








a 








How long will it take to go round one million times ? 








b 






Difficult - you will need a calculator. 








How many times (to 2 significant figures) 



will it go round in one second ? 








Problem Solving 
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Ch 2 - Numeracy Assessment 2 








1. 



Round each number to the number of decimal places shown in the bracket :- 








a 








5·8146 










(2) 










b 



9·99999 








(1) 








c 



0·45678 (3) 








d 



10·13465 (2) 








e 








11·099 








(2) 








f 



9·995555 (4). 








2. 



Round 3·65455 to :- 








a 








1 significant figure 








b 



2 significant figures 



c 



3 sig. figs. 








3. 



Find :- 








a 








37·84 x 7 








b 



31·6 ÷ 4 








c 



10·8765 x 1000 








d 



0·13 ÷ 100 








e 








15·565 ÷ 50 








f 



0·762 x 700. 








4. 



Alice has a party punch bowl that can hold 11 litres of liquid. 








She fills the bowl with 4·15 litres of apple juice, 








3·1 litres of strawberry juice, 2·65 litres of 








lemonade and some ginger beer. 








How much ginger beer can she put into the bowl ? 








5. 








At a javelin competition, Jason tripped 








and only threw 4·65 metres. 








Sara threw 8 times this distance. 








Jack threw a third of Sara’s length. 








What was Jack’s recorded throw ? 








6. 



The 



Hubble Telescope 



records three new planets. 








• 



Planet A 



is 4·7036 light years away from Earth. 








• 



Planet B 



is 300 times this distance from Earth. 








• 



Planet C 



is a fortieth of the distance of Planet B. 








How far is Planet C from Earth ? 








(Give your answer to 4 significant figures). 








7. 



Three runners’ race times were recorded, in minutes and seconds, as :- 








Briggs - 1 : 14·73, 








Huntly - 1 : 21·98, Martin - 0 : 58·8. 








What was the time difference between the fastest and the slowest times ? 








Numeracy Assessment 2 








Numeracy Assessment 2 
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Ch 3 - Percentages - Revision 








1. 



Write 47% as :– 








a 








a fraction 








b 



a decimal. 








2. 



Write 9% as :– 








a 








a fraction 








b 



a decimal. 








3. 



Write each of the following as a fraction and simplify as far as possible :- 








a 








15% 








b 








26% 








c 



84% 








d 



25% 








e 








8% 








f 



70%. 








4. 



Use your calculator to change each of the following fractions to a :- 








(i) 



decimal 








(ii) 



percentage :- 










a 








9 








20 








b 








1 








25 








c 








12 








100 








d 








7 








8 








e 








13 








40 








f 








13 








16 








. 










5. 



Michael scored 58 out of 80 in a Science Test. 








Write his score as a percentage. 








6. 



Cheryl went on holiday to the Isle of Skye for 15 days. 








It rained on six days out of the fifteen. 








What percentage of her holiday did she get dry weather ? 








7. 



Work out the following :– 








a 








12% of £40 








b 








5% of £10 








c 








33% of £70 








d 








45% of £120 








e 








58% of £300 








f 








14% of £500 








g 








92% of £1000 








h 








75% of £6 








i 








25% of £3·20 








j 








4% of £1200 










k 








12 








1 








2 








% of £80 










l 








2 








1 








2 








% of £500 










Revision of Percentages 








Revision of Percentages 










m 



7 








1 








2 








% of £2400 










n 








2% of £4500. 
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